Filbyter Bridge
IMP Over faltet, omg 1 (2) 2022-09-26

IMP over faltet, 4 bord, 8 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 202 87 Lars Jacobson - Séren Thored 1563 1551
2 102 52 Inger Ohman - Rolf Ohman 79565 4997
3 101 46 Hakan Straaf - Mats Sjoberg 1161 1198
4 201 11 Martin Lindfors - Anders Tjernvik 64085 80178
5 1 -11 Magnus Ekman - Olof Bergstrom 6926 1200
6 301 -46 Tobias Bern - Erik Wiberg 66187 60427
7 302 -52 Roger Johansson - Ann-Margret Olsson 67449 26892
8 2 -87 Gun Karlsson - Eva Wilander 1201 87253
1 4 E£9652 Basta kontrakt 2 a- Basta kontrakt 3 4 EK765 Basta kontrakt
Nord v Kn1054 3NT O =-400 Ost vD4 74 OD-82000 |Syd v 10753 64 S =980
Ingen ¢+ Kn NS + KDKn86 ov +3
#985 & ¢ v & NT #KKn10962 & ¢ v & NT #D96 & ¢ v & NT
4743 « D108 N36 654 « E109  Kn876 N 1310118 10 « Kn8 a2 N 4 5 11127
vED82 +v3 S 366 6 4 v53 v K1098 S 1310108 10 v D98 v 62 S 4 5 11127
¢ K7 ¢ E632 O 107 5 7 9 4109543 ¢ ET72 003253 ¢ Kn742 + KD109 06 8115
#ED107 #Kn6432 vV 107 5 7 9 &753 »84 V03233 #E1043 #KKn8752 V 6 7 1 1 5
& KKn & KD5432 4 D10943
v K976 v EKn762 v EKKn4
+ D109854 .- + E865
&K *ED »-
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 2¢vDS+1 «3 570 36.0 -36.0|101 301 3NN+2 +2 660 25.0 -25.0 1 201 44 S+2 ¢4 480 0.0 0.0
1 201 3v S= 43 140 8.0 -8.0|102 302 4v S= +3 620 21.0 -21.0 2 202 44 S+2 48 480 0.0 0.0
102 302 1INV = +J 90 -9.0 9.0 1 201 3#S+2 &3 150 -15.0 15.0(101 301 44 S+2 ¢4 480 0.0 0.0
2 202 4vyDN-3 ¢A -500 -35.0 35.0 2 202 64N-1 #3 -100 -31.0 31.0|102 302 44 S+2 ¢2 480 0.0 0.0
4 & DKn42 Bésta kontrakt 5 » KD8652 Bésta kontrakt 6 » 1086 Bésta kontrakt
Vast v D105 INTN =90 Nord v KKn8 ANT N =630 Ost vE2 74 OD-3800
Alla + Kn102 NS +10 ov ¢ Kn9752
#EKn5 & ¢ v & NT *E72 & ¢ v & NT *E94 & ¢ v & NT
4 K6 49875 N66 777 & EKn 4109 N7 7 8 1010 « EK72 «4DKn9543 N 12134 3 7
vKKn2 v763 S66777 v42 vE9763 S 8 7 8 1010 vKKn1073 v D865 S 12134 3 7
¢ E97 + K864 O7 756 6 ¢ DKn753 ¢ 862 056 422 ¢ 64 ¢- 0109 101
#D9643 #K8 V775866 D964 #Kn105 V561422 *62 #1085 V10 8 101
~E103 4743 a-
v E984 vD105 v 94
+ D53 + EK94 + EKD1083
#1072 »K83 #KDKn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 201 INV-2 ¢J 200 13.0 -13.0 1 201 44 N+1 &J 650 0.0 0.0{102 302 64 S+1 &A 940 27.0 -27.0
101 301 INV-1 ¢J 100 20 -2.0 2 202 44 N+1 ¢8 650 0.0 0.0 1 201 5¢DS+2 4A 750 9.0 -9.0
102 302 2#V-1 42 100 2.0 -2.0|101 301 44 N+1 ¢2 650 0.0 0.0 2 202 5¢ S+2 &A 440 -18.0 18.0
2 202 INV= v5 90 -17.0 17.0|102 302 44 N+1 vA 650 0.0 0.0{101 301 5¢ N+2 v6 440 -18.0 18.0
7 « EKD103 Basta kontrakt 8 4 Kn72 Basta kontrakt 9 ~E8 Basta kontrakt
Syd v KKn54 44 S =620 Vast vD5 2 N =90 Nord v EK109 2¢ N =90
Alla + Kné Ingen +D2 ov + Kn865
#KKn & ¢ v & NT #KKn10943 & ¢ v o NT #D54 & ¢ v & NT
aKn72 48 N5 9 7 108 « EK865 494 N86 6 77 & KDKn763 454 N8 8767
vE106 v D983 S5 9 7 108 v8632 v1094 S866 77 v7 v DKn854 S88767
¢K32 +974 0836 34 465 ¢KKn1094 O 4 7 6 5 6 + K943 ¢ 107 054574
#8753 #E10962 V 8 36 34 &E7 #D82 V476056 »97 #EKn32 V54574
49654 « D103 #1092
v72 v EKKn7 v 632
+ ED1085 + E873 ¢+ ED2
+D4 #65 +K1086
Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang
2 202 44 N+1 ¢9 650 20 -2.0|101 301 24 V-3 42 150 11.0 -11.0|101 301 2NN= v4 120 13.0 -13.0
102 302 44 N+1 &A 650 20 -2.0|102 302 2v S+1 &A 140 10.0 -10.0|102 302 24 V-1 vA 100 9.0 -9.0
1 201 44 N= v8 620 20 20 1 201 24 V-2 ¢Q 100 5.0 -5.0 1 201 2NN-2 ¥4 -100 -11.0 110
101 301 44 N= v8 620 -20 20 2 202 3NS-5 46 -250 -26.0 26.0 2 202 24 O= 6 -110 -11.0 11.0
10 4 Kn1087 Basta kontrakt 11 462 Basta kontrakt 12 4109865 Basta kontrakt
Ost v Kn9542 6NT O =-1440 |Syd v D42 5¢v S =450 Vast vE97 2NT V D -1 100
Alla +52 Ingen + Kn87532 NS *74
*75 & ¢ v & NT D4 & ¢ v & NT #K106 & ¢ v & NT
« EK D53 NO4550 «KKn1l0 4D73 N5 7 119 7 4 EK3 a72 N7 56 86
v3 v KD87 S04560 vKn73 v95 S6 7 119 7 vKn63 v8542 S756 86
¢+ ED9 41063 O 129 8 7 12 ¢ EK64 ¢ D109 06 6 2 45 ¢ K1086 ¢ EKn93 06 8757
#EKD10432 #986 vV 128 8 7 12 K106 87532 V66245 987 &E42 V68757
49642 & E9854 » DKn4
vE106 v EK1086 vKD10
+ KKn874 *- + D52
*Kn #EKn9 #DKn53
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 54V+1 4J -620 39.0 -39.0|102 302 3v S+3 ¢A 230 70 -7.0 2 202 24 S= A 110 15.0 -15.0
1 201 6#V= 4J -1370 -12.0 12.0 1 201 29 S+2 3 170 -1.0 1.0 1 201 2¢ V= oT 90 -5.0 5.0
102 302 6% V= ¢5 -1370 -12.0 12.0({101 301 2v S+2 ¢A 170 -1.0  1.0|101 301 2¢ V= aT 90 -5.0 5.0
101 301 6#V+1 5 -1390 -15.0 15.0 2 202 34 S= ¢A 140 -5.0 5.0|102 302 INS-1 6 -100 -50 5.0
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